(172

M: o4 S0

H7|(53) CI2H =

31 "33 2 =

<l
=

20219 10

2 2:8-13)

ol

(

SOl Tl 2O A

of §AA

X YLIC At Q| = 9| Ot

A TH
— —

Zt
O

A5 L L

L

ol

oK
0

7|Z== ofet

=
=

(1) 1:1-2:13 2HOo| R QIAL o= O2[AE

(2) 2:14-4:5 A

-

wl

il

o1
<

ol

(3) 4:6-8 At

<r

od

ol
go
<

4L
1=

ot 3

LCh 28 ARt M 3

olr

~d

B

[\
i

I.

ofl

M St& L Ch(1:15, BEAZQt

511298} 0

IH

o
13

~U

LICFH(1:16).

o AR E AR S

SIZAH). 8 QUAEZ Z0| E7HX] X[X]

i

4

L|CH2:4-6 =0, 25 M
= B

I

e
o
=

As M 2&72 AFSHA B+
|

2 cret
ot 2

Al
—

=]

—

2HZ ol F fof

o/

ol

<
Y

d

o

L
[

£

F7] $I3H(actualization) XpAl

OofLtA o

ol
=

ol

FL|CH(2:8-13). 'O

-
o
=

Baos 2o 2o{Ltof

of CHe

92 O=g

el A

i[fh

oF
LS

OlfZE etE|ALL Frot FA|

=
—

AYLIC oA &0 23

[2] Yl 7tX] 27

Ofl

H(2:14-18), Ht

—_

off CH
LICF. ofoff Cf 2G| of Al

I

i__ll_%

I

oK 2

LICE AFEFOf A

St
=1

(1) 2:23-26 CHEX| ZOtOf

ct

N
=]

=2otA HEZ

Of7kX| Z5HA Zhs LIt

=
=

o

i

4

g

te2lel Z0of ot zf

Al=

KF

X E

ojn

10K

3o
afl

to| 55



@72

o=

EI_|F 1 HH

Ot

LICE J2[2 oK Atz

-
= ot

=l

(4) 7187 OfHBIER| T

L|C}(3:7-8).

F

e
o
=

E=

l
ot

F

wl

o+

[3] 4:9~E&.

i

foI
i

| 22 NS 2 Ut CRO7 wes) F7

QFE 7tMet Hef

=)

1

414, 224 &

a1
=

|

ofn
KO

=0, M2z otz Lt a2, tlkE, F7t, 0t7h F7|220f cieh of

= TAH 2o AXME =HS

LI HtE2 E7HX] X 7| M At

1ol

AL CH4:16). DLt X710 A {22t

LICE 22[2 X7 2B S Cf

Ul

SH
PN

=
IHO
1

Ujru

o

63

STy

Of

of
&o

b=~

<

A

Of o{H o0z &0tE7t, sgolLICL H=2 O+

HH =
o=

EEI-, 7|

IL
=,

|0 &= LT

ol

g&o| 19|

oo
a

i
N
=
LH
S U
0 J
3 ol
S
ol —
B O
K
ol
4 =0
™ <4
Ko
on 1o
N
_ Ik
ol _
oo &
ol ©
. i
o oF
o x
=T
o
1
Ko ™
om ™
o 4
= <
Jod
=l

0
L|C}. O] Z40] Hf

2
233

ol & AICH>

HZk
=

<A

1. HH20| 555 ¥+ C[2H0A

AL

ZotH Lo A= 7HA U

OfCIO A S LI7t? CHA|

=
=

2D ol44o| ofn|

2Lt

[
ok

o/l

N
RS
J
10



